
	

QUICK	QUIZ	ANSWERS		
	
1.Why	was	Germany	angry	at	the	outcomes	of	the	Treaty	of	
Versailles	in	1919?	Any	of	the	following:	Germany	had	
to	accept	blame	for	starting	the	war,	Germany	had	to	
pay	billions	in	reparations,	Germany	had	to	give	up	a	
lot	of	territory,	Germany	had	to	reduce	their	army	
down	to	100,000	men,	Germany	could	only	keep	six	
battleships	and	could	have	no	submarines	or	air	
force.		
	

2.Why	did	France	want	Germany’s	penalty	to	be	the	most	
severe	during	treaty	talks?	They	were	very	annoyed	by	
the	damage	Germany	had	done	to	France’s	land	and	
people.	They	were	also	worried	because	their	
country	bordered	German	territory.		

	
3.Who	used	anger	and	resentment	in	Germany	to	his	
favour	when	rising	to	power	in	the	early	1930s?	Adolf	
Hitler	

	
4.How	was	Hitler	able	to	convince	crowds	of	people	to	
support	his	cause?	He	was	a	brilliant	public	speaker.	

	
	
5.Which	action,	initiated	by	Adolf	Hitler,	caused	World	War	
II	to	break	out?	The	invasion	of	Poland	on	September	
1st	1939.	


